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Good Model . Matching model :- -
① Descriptive ftp.7z?Igmse:ts:iesgtsistI unemployment : countergdiae

- vacancy rate : pro cyclical
-

Q ( tightness) = V l U
pro cyclical

② Economical ④Simple diagrams
Laba demand

+ Lasa supply) Equilibrium
③ Guide to the unknown ③ - Multipliers
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Labasuppeyi Ls ( O
,

• H : size of labor face H s o

• s : job - separation rate s so

US : s a 3.5% per
month

.

• m ( Ll
,
V ) : matching function

.
U : # of unemployed workers

• V : # of vacant jobs
•
u : unemployment rate

.
W : vacancy rate

definition u = Ll / H

o
-
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V l H

Fbamak- : tf = L t H

labor face T T
# of

# employed unemployed



x L : # water who

flow into

unemployment

sx L : inflows into unemployment
flax U : outflows from unemployment

assumption labor market flows are

balancedimaewnde.ba#ws:
s x L = flat x Ll

s x ( H - 4) = flax U (def . of employment)
sx (t - u ) -- flax u ( divided by H )
s -- f look at Sxu = u x ( f Colts )

u=s+



Labasciy : balanced flows : inflows = outflows
s x ↳ = f lo ) x 4

sx L -

- f x ( H - ↳ ) ( def of 41
salt f x L i f lol x H
( x ( s tf ) : f × µ
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Hot : job - finding rate
⇒ fit > o

• TH L l -

to,
→ " Cole u

• him mm ( 4. v ) : le'm m( 44 '

- to

U → tf V → t 8

him m l l , O ) = tf

Q -St 8

⇒ him ffo) = to

G -s f

⇒ lim.LK = s

⑦ → tf

ft f Q)

⇒ him Ls cool = H
O -Ste
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labasupply.is#may:

① Ls Cf ) is increasing in O

② Ls ( O) = O

③ Ls ( o) L H & lim LS lol = H
① → I

fmpaatis :

Eliot : FOH
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•
what happens if s T ? LS co ) I

•
what happens if H t ? Ls 10 ) T
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←
recruiters : HR

:i: : sina.im:
I

effort to fill
vacancies

producers : produce goods L -
-
Nt R .

& services sold by fin m

V : # vacancies posted by firms
r > o : recruiting cost

# recruiter required to keep a vacancy open
per unit time

.

S s o : job - separation rate
# workers who leave the firm per

unit time .

T RIN : recruiter - producer ratio

whatis

# workers lost : S x L

Ason : labor market flows are balanced

↳ firm : # wakens that leave
= # workers that are recruited

⇒ # walrus recruited must be s x L

⇒ firm must posh enough vacancies V to secure
s x L recruits

.



each vacancy is filled w/ prob a . q co)

⇒ firm must post V = Sil
9cal

( aft) x V = # recruits = sx L l

⇒ ¥ workers devoted to recruiting :

R = rx V = r x sx L =

rigs,
x ( Rt N)

• to

Fu =

Fff, ( Ent
t ) ( divided¥7

T = rxs

at,
( ht t )

till - ratio, )
-

- Ffa,
T Iq @ - rxs ] = rxs

recruiter - producer ratio :
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Recd : geol -
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L O glo) → toqld so 9
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{ ghs ) → 0
Tco ) : • TCO) =Is = O

9101 - rxs✓
. Thot > O

• eco ) defined &, Om)
Fm : vertical asymptote fat .

defined such that gloom ) = rxs
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Finn: L workers : R recruiters t N producers
- production function a

Y= a x N

X: output
a : technology level / labor productivity
L E (o ,

I] : marginal returns to labor
- p -- l : goods 1 services as numerate

( unit of account)
-
W > O : wage paid by firm to all its

workers .

( later : bargaining , unions .
. . )

labor cost : W x L =
Wx( Rt N )

= Wx [It -40) ) x N
because R=Tlo#y

firm profits = TL = turnover - laba casts

TL =p x Y
- Wa L

TL (N) -- a x Nh - W x fit TH ) x N
og a



Objective : Myx Tl ( N) at any point in time .

-

yo

TL ( O) = 0

( fa d Ll ) : IT ( N) is concave .

necessary I sufficient condition to find Max TLCNI :
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luatchingmadel
- firms maximize profits given 0 : want to employ
idiot - idiot :[w¥*k] ""

-

workers expect an employment level given 0 :

LS co ) - L Sla) =
float . H

.

S tf lol

- assumptions : matching function my production
function f: a .

Nh
; labor market
cut

w/ balanced flows TEI TE E-U -- U - E

-
E- U

-

unemployment follows a differential equation ;
it

= s . L - flo) U
I

= s . ( H - Ll ) -

ft ol ' U

LT
= s . H

- ( s tf lol ) .
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if large :
Li = o almost all the time .

Tassone that I :O all the time
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given 0 :
- firms employ Ld (O)
-
Ls lol have jobs

bntwhatiso.tl#Neodasoicalla6awnarleet
:

given wage W
:
- firms employ Ld ( w/
-

Ls Lw ) wakens want a job
but what is w ?



W is such that " labor market clears
"

"

supply = demand
"

• auctioneer -

" invisible hand of the market
"

• w n yw
toohighs : inconsistent w/

assumption that
-
- .

-
- -•t--* ecey body can work at

. . . . .
. . equilibrium w .
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• internally consistent ( Kuen )

↳ requires Ls ( w) : Ld ( w/

eq¥i. condition for internal

consistency
#



:

equilibrium's: to ensure imtamalcmsiskng

→ to ensure that tightness 0

taken as given by firms I wakes is realized

VIO) : # uacanu's posted by firms
that take O as given

4 ( Q) : # unemployed workers that
take O as given

←
tightness
taken

equilibniwmcmdihc.cn:4#=O as given

realized tightness

S x Ld (g)
←
# hire at o

V ( o ) --
-

9101
UH) = H -

Ls ( O)

equilibrium imposes : Vtol =
O
-

4101

⇒ sxLd# ×
1- = 0

919 H - Elo)



- g @ = f / O

-
H - Ls@ = H ( n - stiff, ) -- H '
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⇐s -0 .

Ld lol . Fg, . st§ '¥ = Of

⇐L = I

flat H

Ees
LS CE)

⇐sldcol.nl#yGnaphicalnepnesentati-Ls@I

-0 ^
U = H - L"

:

o' I
÷
#

L

(*

.



from tightness Ot : infer values of all variables in
-

the model
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